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#dijnstra—kadai.run
param n; #/—F#{
param k; #EZRFHIA S
param jj; #EiTRERT

param cli in 1.n, j in 1.n}; #ij 51 BE B
param tim{i in 1.n, j in 1.n};,  #ij FS1EFRS]

param in_numberfi in 1.n}; #i ~D AR
param out_numberfi in 1..n} #i o HRE

param in_nodefi in 1.n,jin 1.n}, # ~DA/—F
param out_nodefi in 1.n, j in 1.n} #i HhSH/—FK

param bfi in 1..n}; #minimum cost flow ELTOHIBDEE
param pili in 1..n} #m i ECOYEENRIEEH

param previi in 1.n},  #R i ~OEENRERICE TS ERIE

param fix{i in 1..n}; R i NDREREEETY

param pi_min; #ET 7E W= X5 BE B

param mu;

data dijkstra.dat;

for {i in 1..n}

{
let pi[il=1e10; #ATv7 1 FIHARTE
let fix[i]:=0; HEAE 2R

}

let pi[1]:=0;

let prev[1]:=0;

let fix[1]:=1;

let k==1; HERFIE S



repeat while(sum{i in 1.n}fix[i] < n) #FT R TOEINRERRESINDET
#Dijkstra ZEADRE
{
#2797 23)
for{j in 1..out_number(k]} #FEZERIEE kK NOIEHT I E ] I NTIZXL
{
if(pilout_nodelkj]1>pilk]+c[k,out_nodelk,j]] and out_nodelk,] '= k and fix[out_node[kj]]=0)then
{  #m kD5 out_nodelkjI~DEEEEAALME S B HT
let pilout_nodelk,j]]:=pilk]+c[k,out_node[k,l];
let prev[out_nodelkj]]:=k;
}
}
#2797 20
let pi_min:=10000;
for(j in 1.n#ERFERRRE SN TLVELREix[[]=0)T 1 DENR/INDEDEESR
{
if(pi[j]<pi_min and j '= k and fix[j]=0)then
{
let pi_min:=pilj];
let k:=j;
}
}
# 27w 7 2iii)
let fix[k]:=1;
} #Dijkstra SZE AR D R1E
display pi;

forf in 1.n} #F RTH FEANDRIEFERRT

{
let jj:=j:
printf:"node %d “ ij;
repeat while( prev([jj]>0)
{
printf:"node %d “ prev[jjl;
let jj :=prev[jl:
]
printf:"¥n";
}
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2. Lagrange fEfNVE

#lag—Ip. run
mode| lag—Ip.mod;
data lag-Ip. dat;

param theta; #XTvTHA4 X0

param Lopt; #EF BRIBEKIE

param |ambda; #{%%k A

param renzoku; # FRIED EFEMNEC 543 ERER
param oldL; #AIREEFTOTHRIE

param tmpx{i in 1..n, j in 1..n}; #EEM

let T:=14;

let Lopt:=24; ##MEAEEMEEL T, 242541,

let mu:=0.0;

let lambda:=0. 8;

let renzoku:=0;

let oldL:=—1el10;

printf:” k, mu, time-T, L(mu), lambda, theta ¥n” > lag-Ip.sol;
for{iter in 0..200} #5452 1 EMEDRERS

{

solve;

if((sum{i in 1..n, j in 1..out_number[il}tim[i, out_nodeli, j11*x[i, out_node[i, j1] <=T)
and (sum{i in1..n, jin1.. out_number[il}cli,out_nodeli, j11*x[i, out_nodeli, j11 < Lopt))then
{ #EITAIEE (BFRIFIE) A OBMBRENEEEL Y BWNMES., BEEEH

let Lopt := (sum{i in 1..n, j in 1..out_number[i]}
c[i,out_nodeli, j11*x[i, out_nodeli, j11);
for{i in 1..n}
{
for{j in 1..n}

{
let tmpx[i, j1:=x[i, j]1; HEE R R
}

if(distance <= oldL) then HIREEFTOTRENEHFINLGZGE
{
let renzoku:=renzoku+l; # FFRIENEIH SN R F &M
i f (renzoku>=4) then ITRIENEFH SN NOEIEA 4 BESGE D
{
let renzoku:=0;
let lambda:=lambdax1/2; #1 % 1/2 {&



J

else H#AIREFEFTOTRENEHFRINDIEGS
{

let oldL:=distance;

let renzoku:=0;

if(sum{i in 1..n, j in 1..out_number[i]}tim[i, out_nodel[i, j11*x[i, out_node[i, j11 <> T)then
BN F v Y RILLAGVNES
{
let theta:= |ambda*(Lopt—distance)

/(sum{i in 1..n, j in 1..out_number[il}tim[i, out_node[i, j11*x[i, out_node[i, j1]1-T)*x*2;

X Ty THA X0 ERE
}
else

{

break;

J

printf:“%3d, %6.6f, %3d, %10.6f, %8.6f, %8.6f¥n”
iter, mu, (sum{i in1..n, jin1..out_number[il}tim[i, out_nodeli, j11*x[i,out_nodeli, j11-T),
distance, lambda, theta > lag—Ip.sol;

let mu:=mu+thetax(sum{i in 1..n, j in 1..out_number[i]}
tim[i, out_nodeli, j11*x[i, out_nodeli, j11-T);
1SS FEHUDOEN

display tmpx > lag—-Ip.sol;
display sum{i in 1..n, j in 1..out_number[il}c[i, out_node[i, j1]1*tmpx[i, out_nodeli, j1]1 >
lag—Ip. sol;
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